L
H = 200000
H=0000 W= podum. N kn < 0:011500 4 -
fm = 0sO4TIBL o = 040A0TAIST e Qs "\ = 200000m hIS=37p. 1= e0m = 0000
=370 h1s= 31052, 7 s Pt i = 04022500 T= 1121 = 07004855 km = 0.000g
L okt / 0545 o f=0003 TS23748  hys. 37139
L - . ﬁ._.E 43 %
B
et be
8379
3
o
&
o
e
. w0
3 1)
o o
o B
S L0 50 P
R = "
= ]
] =2
o = e =
: 2
J,.__ .,GP *u q
{ ==
(Noppenptattenf =\ U}
A .2, Sperrfeld =
3700 | | o31}; lRpilel:;pela " . J._,f,(_-
18 1 Aol N - :
5 0 - ] Mo E
g i @741 Rl Ny ettt
— = unbef, kj\ I e ———
(abgesenkt) o) B389 Gra 123 unbet
R i il Y | : — 2 . &7 2
1 ~= ey
‘ = : Al 2 - I
A 3699 - | - e
83692 7 @M}- 33 , [ | 330 S
3686 \ Yo (3-3eilic) e - lﬁ'/ | '-,m_ 5 A 3719
- | S8 J 2 ==
162 = —
alande= “Sperrfeld unbef, —  ®&p BT
anpassung fir:ds?rei ::Henl 03237 Gelande- =" o e S
'E Leuchte  Baum fillen bzw. || (Nobpenplatten) A o ®31125 unbef, -
= versetzen ympflanzen 1 I —,—;ﬁ""“\ _ N - %5
1= ) N ‘L i e o S 24 Qi Ya 72 .
) - ) ! = 176
s 212 1 c ' o
4+ J' -.U—I R gr— ——— N
174 | (1]
wlY N |' | T
v|2 ; c
clsS hule | n {
g 2 Alte Sc lf ) gnw 81- —_—
o|< ' O B 0 b
I O A [
— . 26
I o = v
@ |<C

~N



